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October 19, 2011 (Wednesday)

1. (10 points) In the line drawing algorithm of Bresenham, derive the initial value
  

       

       

      ∵     
  

 

  ∵ 



 

2. (10 points) Consider a rotation   about an axis (0, 1, 0) by angle 60° and 
another rotation   about an axis (0, 0, 1) by angle 60°.  What is the axis and 
angle of the composite rotation ?
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
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  


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
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axis: 

   

angle: arccos




